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B AV EZEL3] A =1}
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AEE3s A4 -400,0009= -400, 000
ABEAAVAAE 0] ZEo AN
1,400 1,4oo(°%?)h°a 1 Eoke] B4k 500,000 500,000
A x13]=
A2 S-S AR ) Al ZF
(A H;ﬁ)f—”—“f JAF 30,0009 X 24] 600,000
x103]=
AEZASEZFAE] 25,0009 X 378 X 4A] 7= 300,000
AEaA) R 3 A x2%E
A= ] 7,500 7,500 3 ‘:'f)* Bl &% 475009123 950,000
x103]=
B2 U9 £3F 40,0009 x43]= 160,000
AHA)EE BEl &% 130,0009 x53]= 650,000
(*é_%ﬁ)ﬂ%%‘f&u}% A4 500,0009 500,000
X 13]=
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2] o A sAlurE A}
(o_%ﬂ)cﬂguz P A& 600,0004 600,000
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] Q-2 3} =g Z}
(o%%_i)ﬂgnzl g &8 A= 200,000 400,000
A x23]=
A = R = Z} L)
Eo A7) EHE=E A2 10,0009 <4070 400,000
AHADFES £22F 100,000 x5%= 500,000
(AFA)EF A8 100,0009 x 103]= 1,000,000
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(AP A71eA A8 250,000 x23])= 500,000
A2 A) 3o A3 =2 ©
() FgegZdAds] A 50,0001 200,000
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(AAEA)IEHYAHF 100,000 < 23]= 200,000
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R 620 -2,000
HEA e 620 0
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2.1 E T4 5,423 3,000 2,423 AFETY -500,0009= -500,000
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olojzd FEIH A 50,0009 X 13th= 650,000
9. 338w ¥ AAMTHF(FHia) 10,875 10,875 0
1AV 93 6,000 6,000 0
27188 8H 4,875 4,875 0
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(gx)oFelElo] & 300,000 X 2= 600,000
(AEx)oke =8 E 30,0009 X 10%= 300,000
(B ERUNF-FLFE 50,0009 < 10E= 500,000
(AFA)HYEE 700,000 X 138]= 700,000
(ﬁgz&)ﬁﬂﬂé 71Z 2] 1,000,000 1,000,000
2. W5 400 0 400| (P4 HA)ZEAE] 5,0009 X408 X 23]= 400,000
+9 ¥4 5,800 4,300 1,500
23 g 1 2016-07-18




20163HAE A& o AHH A A

F7418) () A9
i NI IR 42712 (Q)
AvgE  QipgAwme | AEA g S
W$g998 ey 1,200 1,200 0
1.8t 89993 e9y 1,200 1,200 0
1A 53] 1,200 1,200 0
By e 4,600 3,100 1,500
1.8t RS 2,200 2,200 0
1.295% 1,200 1,200 0
2. &5 o n) 1,000 1,000 0
2. 5403 9 200 200 0
1. g -7 200 200 0
3. RS (g a) 700 700 0
1.+959 300 300 0
2. 5G| 400 400 0
4.914+3] - 1,500 0 1,500
1. uk 84 1,500 0 1,500 A=k tled 500,000 < 13]= 500,000
E3Z 39 1,000,0009 X 13]= 1,000,000
0 9,000/  -9,000
0 9,000/  -9,000
1. ol v H] 0 9,000/  -9,000
1. eju)n) 0 9,000/  -9,000
1.<jH]H 0 9,000/  =9,000|l¥1H]  -9,000,000%)= -9,000,000
A &3 2,109,183 1,218,505 890,678
=] ]

24 Faj 2 2016-07-18

il
i




